   Submit your solutions on separate paper.  Indicate your team name.

   One solution set only is required from each team. 
   Part marks are awarded for partial or incorrect solutions.
   The steps to a solution can be omitted if you are confident your final answer is correct,

   however the steps will be used for part marks for incomplete or incorrect solutions.

   Marks may be deducted for poor mathematical form.
Group Problem Set #2    Linear Equations
1. Solve each of the following equations.
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c)    
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2.
Given that 
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, find the value of k.

3.
Determine the value of p in each of the following geometry problem situations.

a) The interior angles of a triangle (in degrees) are 7p – 33.5, 57.3 ( 4p and 48.2 + 6p.
b) The angle formed by the lines y = (11x +71 and 3x – 33y -53 = 0 is 45p + 540 (in degrees).

c) The interior angles of a pentagon (in degrees) are 
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4.
If the reciprocal of 
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 determine the value of x.

5.
If  
[image: image12.wmf]53
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find the value of (90y ( 54)2.

6.
Given that 
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determine the value of x.

Solutions to Group Problem Set #2

1.
(13 marks)


a) 
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(1 mark)
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(1 mark)
(any correct fraction or decimal equivalent is acceptable)
(4 marks for part a)

Award 4 Marks immediately if the answer is correct without examining the solution.

Award full marks immediately if the final answer is correct without regard to the details of their solution (for this and all other questions in this set).

b) 
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(1 mark – multiplying by any common denominator is acceptable)
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(1 mark)
(any correct fraction or decimal equivalent is acceptable)
(4 marks for part b)

c) 
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(1 mark – multiplying by any common denominator is acceptable)
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(1 mark)
(any correct fraction or decimal equivalent is acceptable)
(5 marks for part c)

2.
(8 marks)
     Use the first and third parts of 
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 to solve for x     (1 mark)
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(1 mark – multiplying by any common denominator is acceptable)
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(1 mark)
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Evaluate 
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(1 mark)
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(1 mark)
Substitute x = (11 and solve for k in  
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(1 mark)
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(1 mark)
 (8 marks for question 2.)

3.
(15 marks)
a) Let 7p – 33.5 + 57.3 ( 4p + 48.2 + 6p = 180

(2 marks – 1 mark for knowing
that the sum of the interior angles of a triangle is 180()
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(1 mark)
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(1 mark)
(4 marks for part a)
b) The respective slopes of the lines are  (11 and 
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(2 marks – 1 mark for any   incorrect  
 attempt at slopes)
The slopes are negative reciprocals and the lines meet at a 90( angle
(1 mark)
Let  45p +540 = 90




(1 mark)
Let  45p = (450   or   p = (10



(1 mark)
(5 marks for part b)

c) Let 
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  (2 marks – 1 mark for knowing
that the sum of the interior angles of a pentagon is 540()
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     (1 mark)
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(1 mark)
(any correct fraction or decimal equivalent is acceptable)
(add 1 bonus mark for the observation that this answer inadmissible in that one of the angles is negative and two of the angles are reflex angles)
(6 marks for part c)  (or 7 marks if bonus is obtained)
4.
(5 marks)

Let  
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(1 mark for any fraction or decimal equivalent)
 (5 marks for question 4.)

5.
(3 marks)

Solution #1:

Notice that 
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  is  (90y ( 54).

(1 mark)
Hence   (90y ( 54) = 36(21) = 756
And (90y ( 54)2 = 7562 = 571 536
(2 marks – 1 mark for any incorrect attempt)
Solution #2:


Solve for y in 
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 to obtain  5y – 3 = 42  or  y  = 9  
  (1 mark)

and (90y ( 54)2 = (90(9) – 54)2 = 7562 = 571 536 (2 marks – 1 mark for any incorrect attempt)
(3 marks for question 5.)

6.
(6 marks)
Solution 1:
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(1 mark)
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Observe that 193 = 6859





Hence  
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And  
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(1 mark)
Thus we have:   
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  or   2x + 91 = 15x

(1 mark)
Solving yields:  (13x = (91  or  x = (7


(1 mark)
Solution 2:
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(1 mark)
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(2 marks – 1 mark for each calculation)
Equating the exponents we get:
2x + 91 = 15x  
(1 mark)
Solving gives:
(13x = (91  or  x = (7


(1 mark)
 (6 marks for question 6.)

Quick Mark Summary For This problem Set:

1. 13 Marks

2. 8 Marks

3. 15 Marks

4. 5 Marks

5. 3 Marks

6. 6 Marks

Total Possible Marks for Problems Set #2 is 50
Indicate Total Team Score Only on Blackboard Summary (Never give percentages)
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